

Summary of Bids Received

Project: Everett Road and Deerfield Road Bridge at I-94

Section: 11-00999-20-RS

Description: Bridge deck repair, guardrail removal and replacement, expansion joint

Bidder Herlihy Mid-Continent Company Lorig Construction Company Vixen Construction Company Dunnet Bay Construction Alliance Contractors, Inc. Sjostrom & Sons, Inc.	Address 1306 Marquette Drive 250 East Touhy Avenue 7600 W. 79th Street 115 N. Brandon Drive 1166 Lake Avenue P.O. Box 5766	City, State, Zip Romeoville, IL 60446-1026 Des Plaines, IL 60018 Bridgeview, IL 60455 Glendale Heights, IL 60139 Woodstock, IL 60098 Rockford, IL 61125	Bond Bid Bond	Bid Price \$485,366.00 \$531,786.63 \$675,785.45 \$678,623.90 \$735,941.78 \$787,562.00	-15.81% 6.98% 7.43% 16.51%	\$ Over/Under Eng. Estimate -\$146,298.00 -\$99,877.37 \$44,121.45 \$46,959.90 \$104,277.78 \$155,898.00
Engineer's Estimate				\$631,664.00		
Design	IDOT(2)	Contract Bidder	N	IGB then Plan Ra	ck	
Finance	Bid Tab File	Resident Eng.	A	dministrative Assi	stant	
Construction	Project File	Request By Mail	N	Igr Capital Progra	mming	



Return Bid Tabulation

Project: Everett Road and Deerfield Road Bridge at I-94 **Section:** 11-00999-20-RS

Description: Bridge deck repair, guardrail removal and replacement, expansion joint replacement CPMS Pin: B-00099

Let Date: 01/31/2012

										Herlihy Mid-Continent		Lorig Con	Lorig Construction		nstruction		
Item No	. Pay C	Code Description	Quantity Unit	Eng Es	timate	Alliance Cont	ractors, Inc.	Dunnet Bay	Construction	Comp	any	Com	pany	Com	pany	Sjostrom &	Sons, Inc.
				Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
	1 2800	0500 INLET AND PIPE PROTECTION	7.00 EACH	\$125.00	\$875.00	\$100.00	\$700.00	\$200.00	\$1,400.00	\$300.00	\$2,100.00	\$150.00	\$1,050.00	\$140.00	\$980.00	\$250.00	\$1,750.00
	2 4060	0100 BITUMINOUS MATERIALS (PRIME COAT)	21.00 GALLON	\$15.00	\$315.00	\$10.00	\$210.00	\$4.00	\$84.00	\$10.00	\$210.00	\$10.00	\$210.00	\$10.25	\$215.25	\$21.00	\$441.00
		HOT-MIX ASPHALT SURFACE COURSE,															
	3 4060	3340 MIX "D", N70	102.00 TON	\$200.00	\$20,400.00	\$118.00	\$12,036.00	\$184.00	\$18,768.00	\$118.00	\$12,036.00	\$120.00	\$12,240.00	\$120.95	\$12,336.90	\$155.00	\$15,810.00
	4 4200	1300 PROTECTIVE COAT	23.00 SQ YD	\$2.00	\$46.00	\$15.00	\$345.00	\$1.00	\$23.00	\$1.50	\$34.50	\$5.00	\$115.00	\$78.00	\$1,794.00	\$2.30	\$52.90
	HOT-MIX ASPHALT SURFACE REMOVAL,																
	5 4400	0198 VARIABLE DEPTH	927.00 SQ YD	\$20.00	\$18,540.00	\$18.05	\$16,732.35	\$16.00	\$14,832.00	\$13.65	\$12,653.55	\$25.00	\$23,175.00	\$31.75	\$29,432.25	\$12.40	\$11,494.80
	6 4400	4250 PAVED SHOULDER REMOVAL	79.00 SQ YD	\$25.00	\$1,975.00	\$70.00	\$5,530.00	\$20.00	\$1,580.00	\$20.00	\$1,580.00	\$40.00	\$3,160.00	\$58.25	\$4,601.75	\$21.00	\$1,659.00
	7 4420	1690 CLASS D PATCHES, TYPE I, 4 INCH	5.00 SQ YD	\$150.00	\$750.00	\$367.00	\$1,835.00	\$500.00	\$2,500.00	\$367.00	\$1,835.00	\$375.00	\$1,875.00	\$367.00	\$1,835.00	\$1,081.00	\$5,405.00
	8 4820	3021 HOT-MIX ASPHALT SHOULDERS, 6"	79.00 SQ YD	\$35.00	\$2,765.00	\$51.00	\$4,029.00	\$60.55	\$4,783.45	\$51.00	\$4,029.00	\$55.00	\$4,345.00	\$52.30	\$4,131.70	\$120.00	\$9,480.00
	9 5010	2400 CONCRETE REMOVAL	44.10 CU YD	\$1,000.00	\$44,100.00	\$1,265.00	\$55,786.50	\$1,250.00	\$55,125.00	\$500.00	\$22,050.00	\$150.00	\$6,615.00	\$1,040.00	\$45,864.00	\$1,000.00	\$44,100.00
1	0 5015	7300 PROTECTIVE SHIELD	48.00 SQ YD	\$100.00	\$4,800.00	\$0.01	\$0.48	\$0.10	\$4.80	\$55.00	\$2,640.00	\$5.00	\$240.00	\$395.00	\$18,960.00	\$463.50	\$22,248.00
1	1 5030	0255 CONCRETE SUPERSTRUCTURE	49.90 CU YD	\$1,000.00	\$49,900.00	\$950.00	\$47,405.00	\$1,300.00	\$64,870.00	\$350.00	\$17,465.00	\$300.00	\$14,970.00	\$1,495.00	\$74,600.50	\$1,000.00	\$49,900.00
1	2 5080	0205 REINFORCEMENT BARS, EPOXY COATED	4,561.00 POUND	\$2.00	\$9,122.00	\$1.65	\$7,525.65	\$2.00	\$9,122.00	\$1.80	\$8,209.80	\$2.00	\$9,122.00	\$2.20	\$10,034.20	\$1.50	\$6,841.50
1	3 5080	0515 BAR SPLICERS	52.00 EACH	\$25.00	\$1,300.00	\$21.95	\$1,141.40	\$29.50	\$1,534.00	\$24.00	\$1,248.00	\$3.00	\$156.00	\$46.30	\$2,407.60	\$22.00	\$1,144.00
1	4 5200	0110 PREFORMED JOINT STRIP SEAL	178.00 FOOT	\$250.00	\$44,500.00	\$160.00	\$28,480.00	\$190.00	\$33,820.00	\$271.00	\$48,238.00	\$190.00	\$33,820.00	\$332.00	\$59,096.00	\$223.50	\$39,783.00
1	5 5810	0200 WATERPROOFING MEMBRANE SYSTEM	702.00 SQ YD	\$5.00	\$3,510.00	\$48.00	\$33,696.00	\$44.50	\$31,239.00	\$45.00	\$31,590.00	\$31.00	\$21,762.00	\$41.95	\$29,448.90	\$40.00	\$28,080.00
1	6 5900	0200 EPOXY CRACK INJECTION	167.00 FOOT	\$100.00	\$16,700.00	\$55.00	\$9,185.00	\$55.00	\$9,185.00	\$55.00	\$9,185.00	\$73.00	\$12,191.00	\$56.40	\$9,418.80	\$60.90	\$10,170.30
		STEEL PLATE BEAM GUARD RAIL, TYPE															
1	7 6300	0003 A, 9 FOOT POSTS	12.50 FOOT	\$40.00	\$500.00	\$35.00	\$437.50	\$35.00	\$437.50	\$35.00	\$437.50	\$100.00	\$1,250.00	\$97.40	\$1,217.50	\$35.00	\$437.50
1	8 6320	0310 GUARDRAIL REMOVAL	12.50 FOOT	\$5.00	\$62.50	\$4.00	\$50.00	\$4.00	\$50.00	\$4.00	\$50.00	\$15.00	\$187.50	\$10.25	\$128.13	\$4.00	\$50.00
1	9 6710	0100 MOBILIZATION	1.00 L SUM	\$35,000.00	\$35,000.00	\$168,115.00	\$168,115.00	\$34,200.00	\$34,200.00	\$29,000.02	\$29,000.02	\$25,000.00	\$25,000.00	\$36,000.00	\$36,000.00	\$86,600.00	\$86,600.00
2	0 7010	6800 CHANGEABLE MESSAGE SIGN	10.00 CAL MO	\$1,000.00	\$10,000.00	\$900.00	\$9,000.00	\$900.00	\$9,000.00	\$750.00	\$7,500.00	\$800.00	\$8,000.00	\$768.75	\$7,687.50	\$750.00	\$7,500.00
2	1 7030	0520 PAVEMENT MARKING TAPE, TYPE III 4"	2,482.00 FOOT	\$1.00	\$2,482.00	\$0.85	\$2,109.70	\$0.85	\$2,109.70	\$0.82	\$2,035.24	\$0.85	\$2,109.70	\$0.85	\$2,109.70	\$0.80	\$1,985.60
2	2 7030	0530 PAVEMENT MARKING TAPE, TYPE III 5"	6,352.00 FOOT	\$1.00	\$6,352.00	\$0.95	\$6,034.40	\$0.95	\$6,034.40	\$1.03	\$6,542.56	\$1.05	\$6,669.60	\$1.10	\$6,987.20	\$1.00	\$6,352.00
2	3 7030	0570 PAVEMENT MARKING TAPE, TYPE III 24"	22.00 FOOT	\$1.25	\$27.50	\$5.10	\$112.20	\$5.10	\$112.20	\$4.50	\$99.00	\$4.50	\$99.00	\$4.65	\$102.30	\$4.50	\$99.00
		WORK ZONE PAVEMENT MARKING															
2	4 7030	1000 REMOVAL	3,523.00 SQ FT	\$1.00	\$3,523.00	\$0.95	\$3,346.85	\$0.95	\$3,346.85	\$0.01	\$35.23	\$0.01	\$35.23	\$0.05	\$176.15	\$0.10	\$352.30
2	5 7040	0100 TEMPORARY CONCRETE BARRIER	450.00 FOOT	\$30.00	\$13,500.00	\$29.30	\$13,185.00	\$23.00	\$10,350.00	\$30.00	\$13,500.00	\$20.00	\$9,000.00	\$30.75	\$13,837.50	\$28.80	\$12,960.00
		RELOCATE TEMPORARY CONCRETE															
2	6 7040	0200 BARRIER	425.00 FOOT	\$10.00	\$4,250.00	\$9.25	\$3,931.25	\$3.00	\$1,275.00	\$7.00	\$2,975.00	\$5.00	\$2,125.00	\$7.05	\$2,996.25	\$8.40	\$3,570.00
		THERMOPLASTIC PAVEMENT MARKING															
2	7 7800	0200 - LINE 4"	1,048.00 FOOT	\$1.50	\$1,572.00	\$1.00	\$1,048.00	\$1.00	\$1,048.00	\$1.20	\$1,257.60	\$1.20	\$1,257.60	\$1.25	\$1,310.00	\$1.20	\$1,257.60
		THERMOPLASTIC PAVEMENT MARKING															
2	8 7800	0300 - LINE 5"	1,782.00 FOOT	\$1.50	\$2,673.00	\$1.50	\$2,673.00	\$1.50	\$2,673.00	\$1.50	\$2,673.00	\$1.50	\$2,673.00	\$1.55	\$2,762.10	\$1.50	\$2,673.00
		POLYUREA PAVEMENT MARKING TYPE I -		,	, , , , , , ,	,	. ,	,	, ,: 5155	, , , ,	. ,	,	7.7.	,			. ,: 3100
2	9 7800	8210 LINE 4"	8.00 FOOT	\$1.50	\$12.00	\$5.00	\$40.00	\$5.00	\$40.00	\$5.00	\$40.00	\$5.00	\$40.00	\$5.15	\$41.20	\$5.00	\$40.00
		POLYUREA PAVEMENT MARKING TYPE I -															
3	0 7800	8220 LINE 5"	668.00 FOOT	\$1.50	\$1,002.00	\$7.00	\$4,676.00	\$7.00	\$4,676.00	\$6.00	\$4,008.00	\$5.50	\$3,674.00	\$6.15	\$4,108.20	\$6.00	\$4,008.00
_		0100 PAVEMENT MARKING REMOVAL	2.280.00 SQ FT	\$2.00	\$4,560.00	\$0.95	\$2,166.00	\$0.95		\$1.00	\$2,280.00	\$0.75	\$1,710.00	\$1.05		\$1.00	\$2,280.00
		TEMPORARY TRAFFIC SIGNAL			, ,,	.,,,,,	. ,		, ,						. ,		
3	2 8900	0100 INSTALLATION	1.00 EACH	\$17,000.00	\$17,000.00	\$28,457.00	\$28,457.00	\$46,400.00	\$46,400.00	\$34,400.00	\$34,400.00	\$35,000.00	\$35,000.00	\$47,500.00	\$47,500.00	\$23,957.00	\$23,957.00



Return Bid Tabulation

Project: Everett Road and Deerfield Road Bridge at I-94 **Section:** 11-00999-20-RS

Description: Bridge deck repair, guardrail removal and replacement, expansion joint replacement CPMS Pin: B-00099

Let Date: 01/31/2012

											Herlihy Mid		Lorig Cor		Vixen Cor			
Item No	. Pay Code	Description	Quantity	Unit	Eng Est		Alliance Cont		Dunnet Bay C		Comp		Com			pany	Sjostrom &	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
		MAINTENANCE OF TEMPORARY EROSION																
33		CONTROL SYSTEMS	4.00	UNIT	\$150.00	\$600.00	\$150.00	\$600.00	\$150.00	\$600.00	\$150.00	\$600.00	\$150.00	\$600.00	\$150.00	\$600.00	\$150.00	\$600.00
		TEMPORARY LIGHTING FOR SINGLE																
		LANE STAGING		L SUM	\$10,000.00	\$10,000.00	\$8,841.00	\$8,841.00	\$13,850.00	\$13,850.00	\$19,500.00	\$19,500.00	\$10,000.00	\$10,000.00	\$9,065.00	\$9,065.00	\$13,841.00	\$13,841.00
35	X5017305	PROTECTIVE SHIELD (PERMANENT)	537.00	SQ YD	\$100.00	\$53,700.00	\$69.50	\$37,321.50	\$70.00	\$37,590.00	\$60.00	\$32,220.00	\$115.00	\$61,755.00	\$88.00	\$47,256.00	\$57.70	\$30,984.90
		REMOVAL AND REPLACEMENT OF																
		STEEL PLATE BEAM GUARDRAIL, RAIL																
36	X6331007		237.50	FOOT	\$20.00	\$4,750.00	\$11.20	\$2,660.00	\$11.20	\$2,660.00	\$11.20	\$2,660.00	\$8.00	\$1,900.00	\$17.65	\$4,191.88	\$11.20	\$2,660.00
		ENGINEER'S FIELD OFFICE, TYPE A																
37	X6700405	(MODIFIED)	4.00	CAL MO	\$2,000.00	\$8,000.00	\$500.00	\$2,000.00	\$2,750.00	\$11,000.00	\$3,490.00	\$13,960.00	\$2,600.00	\$10,400.00	\$3,000.00	\$12,000.00	\$2,347.80	\$9,391.20
		TRAFFIC CONTROL AND PROTECTION																
38	3 X7010216	(SPECIAL)	1.00	L SUM	\$13,000.00	\$13,000.00	\$15,999.00	\$15,999.00	\$28,000.00	\$28,000.00	\$15,000.00	\$15,000.00	\$35,000.00	\$35,000.00	\$15,250.00	\$15,250.00	\$34,575.00	\$34,575.00
		TRAFFIC CONTROL AND PROTECTION																
39	X7011015	(EXPRESSWAYS)	1.00	L SUM	\$30,000.00	\$30,000.00	\$33,600.00	\$33,600.00	\$48,000.00	\$48,000.00	\$25,000.00	\$25,000.00	\$20,000.00	\$20,000.00	\$28,175.00	\$28,175.00	\$40,000.00	\$40,000.00
40	Z0001700	APPROACH SLAB REPAIR (FULL DEPTH)	22.00	SQ YD	\$700.00	\$15,400.00	\$1,005.00	\$22,110.00	\$800.00	\$17,600.00	\$478.00	\$10,516.00	\$500.00	\$11,000.00	\$640.00	\$14,080.00	\$1,110.00	\$24,420.00
		APPROACH SLAB REPAIR (PARTIAL																
41	Z0001800		32.00	SQ YD	\$575.00	\$18,400.00	\$670.00	\$21,440.00	\$285.00	\$9,120.00	\$269.00	\$8,608.00	\$400.00	\$12,800.00	\$280.00	\$8,960.00	\$787.30	\$25,193.60
		STRUCTURAL REPAIR OF CONCRETE																
	_	(DEPTH EQUAL TO OR LESS THAN				_							_	_			_	_
42	2 Z0012754	5 INCHES)	33.00	SQ FT	\$150.00	\$4,950.00	\$185.00	\$6,105.00	\$150.00	\$4,950.00	\$85.00	\$2,805.00	\$90.00	\$2,970.00	\$190.00	\$6,270.00	\$108.30	\$3,573.90
		STRUCTURAL REPAIR OF CONCRETE																
		(DEPTH GREATER THAN 5 INCHES)	17.00		\$250.00	\$4,250.00	\$185.00	\$3,145.00	\$225.00	\$3,825.00	\$100.00	\$1,700.00	\$105.00	\$1,785.00	\$246.00	\$4,182.00	\$108.30	\$1,841.10
44	Z0013798	CONSTRUCTION LAYOUT	1.00	L SUM	\$20,000.00	\$20,000.00	\$1,500.00	\$1,500.00	\$20,000.00	\$20,000.00	\$250.00	\$250.00	\$4,000.00	\$4,000.00	\$525.00	\$525.00	\$2,500.00	\$2,500.00
		DECK OF AD DEDAID (FULL DEDTH TYPE I)	40.00	00.1/0	****	***		****		******	0 =00.00		****	000 400 00	****	***		
45	20016001	DECK SLAB REPAIR (FULL DEPTH, TYPE I)	48.00	SQYD	\$900.00	\$43,200.00	\$600.00	\$28,800.00	\$680.00	\$32,640.00	\$500.00	\$24,000.00	\$800.00	\$38,400.00	\$638.00	\$30,624.00	\$1,350.00	\$64,800.00
	70010000	DECK SLAB REPAIR (FULL DEPTH, TYPE		00.1/0	****	****	****		001500	****	0 =0= 00		A ==0.00	*** *** ***	****			
_	Z0016002	,	24.00		\$900.00	\$21,600.00	\$600.00	\$14,400.00	\$915.00	\$21,960.00	\$505.00	\$12,120.00	\$750.00		\$638.00	\$15,312.00	\$1,350.00	\$32,400.00
		DECK SLAB REPAIR (PARTIAL)	108.00		\$400.00	\$43,200.00	\$500.00	\$54,000.00	\$330.00	\$35,640.00	\$155.00	\$16,740.00	\$425.00		\$275.00		\$695.00	\$75,060.00
48	20026346	NIGHTTIME WORK ZONE LIGHTING	1.00	L SUM	\$7,000.00	\$7,000.00	\$1.00	\$1.00	\$5,000.00	\$5,000.00	\$3,550.00	\$3,550.00	\$100.00	\$100.00	\$1,500.00	\$1,500.00	\$9,839.80	\$9,839.80
		IMPACT ATTENUATORS, TEMPORARY																
		(FULLY REDIRECTIVE, NARROW), TEST		E 4 O 1 1	A . ===	40 500 00		40.000.00							A . = . =			
49	Z0030255	LEVEL 2	2.00	EACH	\$4,750.00	\$9,500.00	\$4,300.00	\$8,600.00	\$4,300.00	\$8,600.00	\$4,500.00	\$9,000.00	\$4,600.00	\$9,200.00	\$4,715.00	\$9,430.00	\$4,300.00	\$8,600.00
1		IMPACT ATTENHATORS DELOCATE																
	7000000	IMPACT ATTENUATORS, RELOCATE	0.00	E4011	04 000 00	#0.000.00	#0.400.00	# 4.000.00	#0.400.00	64 000 00	# 0.000.00	# F 000 00	#0 056 00	0.4.400.00	60 07F 00	0445000	#0.400.00	04.000.00
50	Z0030320		2.00	EACH	\$1,000.00	\$2,000.00	\$2,400.00	\$4,800.00	\$2,400.00	\$4,800.00	\$2,600.00	\$5,200.00	\$2,050.00	\$4,100.00	\$2,075.00	\$4,150.00	\$2,400.00	\$4,800.00
		Bid Total				\$631,664.00		\$735,941.78		\$678,623.90		\$485,366.00		\$531,786.63		\$675,785.45		\$787,562.00



Project: Everett Road and Deerfield Road Bridge at I-94

Section: 11-00999-20-RS

Description: Bridge deck repair, guardrail removal and replacement, expansion joint replacement

					Eng Estimate				
ltem No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1		INLET AND PIPE PROTECTION		EACH	\$125.00		\$100.00	\$300.00	\$190.00
2		BITUMINOUS MATERIALS (PRIME COAT)	21	GALLON	\$15.00	\$315.00	\$4.00	\$21.00	\$10.88
		HOT-MIX ASPHALT SURFACE COURSE,							
3		MIX "D", N70		TON	\$200.00		\$118.00	\$184.00	\$135.99
4		PROTECTIVE COAT	23	SQ YD	\$2.00	\$46.00	\$1.00	\$78.00	\$17.13
		HOT-MIX ASPHALT SURFACE REMOVAL,							
		VARIABLE DEPTH		SQ YD	\$20.00		\$12.40		\$19.48
6		PAVED SHOULDER REMOVAL		SQ YD	\$25.00	. ,	\$20.00	\$70.00	\$38.21
7		CLASS D PATCHES, TYPE I, 4 INCH		SQ YD	\$150.00		\$367.00	\$1,081.00	\$509.50
8		HOT-MIX ASPHALT SHOULDERS, 6"		SQ YD	\$35.00	. ,	\$51.00	\$120.00	\$64.98
9		CONCRETE REMOVAL		CU YD	\$1,000.00		\$150.00	\$1,265.00	\$867.50
10		PROTECTIVE SHIELD		SQ YD	\$100.00	+ ,	\$0.01	\$463.50	\$153.10
11	50300255	CONCRETE SUPERSTRUCTURE	50	CU YD	\$1,000.00	\$49,900.00	\$300.00	\$1,495.00	\$899.17
12		REINFORCEMENT BARS, EPOXY COATED		POUND	\$2.00	. ,	\$1.50	\$2.20	\$1.86
13		BAR SPLICERS		EACH	\$25.00	+ /	\$3.00	\$46.30	\$24.46
14	52000110	PREFORMED JOINT STRIP SEAL	178	FOOT	\$250.00	\$44,500.00	\$160.00	\$332.00	\$227.75
					4				.
15		WATERPROOFING MEMBRANE SYSTEM		SQ YD	\$5.00		\$31.00	\$48.00	\$41.74
16		EPOXY CRACK INJECTION		FOOT	\$100.00	\$16,700.00	\$55.00	\$73.00	\$59.22
		STEEL PLATE BEAM GUARD RAIL, TYPE A,						*	
17		9 FOOT POSTS		FOOT	\$40.00	*	\$35.00	\$100.00	\$56.23
18		GUARDRAIL REMOVAL		FOOT	\$5.00	•	\$4.00	\$15.00	\$6.88
19		MOBILIZATION		L SUM	\$35,000.00	+ /	\$25,000.00	\$168,115.00	\$63,152.50
20	70106800	CHANGEABLE MESSAGE SIGN	10	CAL MO	\$1,000.00	\$10,000.00	\$750.00	\$900.00	\$811.46



Project: Everett Road and Deerfield Road Bridge at I-94

Section: 11-00999-20-RS

Description: Bridge deck repair, guardrail removal and replacement, expansion joint replacement

					Eng Es	Eng Estimate		D. I	A 511
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
21	70200520	PAVEMENT MARKING TAPE, TYPE III 4"	2 492	FOOT	\$1.00	\$2,482.00	\$0.80	\$0.85	\$0.84
21	70300320	TAVEMENT MARKING TALE, THE III 4	2,402	1001	Ψ1.00	Ψ2,402.00	Ψ0.00	ψ0.03	ψ0.04
22	70300530	PAVEMENT MARKING TAPE, TYPE III 5"	6,352	FOOT	\$1.00	\$6,352.00	\$0.95	\$1.10	\$1.01
23	70300570	PAVEMENT MARKING TAPE, TYPE III 24"	22	FOOT	\$1.25	\$27.50	\$4.50	\$5.10	\$4.73
		WORK ZONE PAVEMENT MARKING			¥ 1	V	¥	4 0110	*
24	70301000	REMOVAL	3,523	SQ FT	\$1.00	\$3,523.00	\$0.01	\$0.95	\$0.35
25	70400100	TEMPORARY CONCRETE BARRIER	450	FOOT	\$30.00	\$13,500.00	\$20.00	\$30.75	\$26.98
		RELOCATE TEMPORARY CONCRETE							
26	70400200		425	FOOT	\$10.00	\$4,250.00	\$3.00	\$9.25	\$6.62
		THERMOPLASTIC PAVEMENT MARKING							
27			1,048	FOOT	\$1.50	\$1,572.00	\$1.00	\$1.25	\$1.14
		THERMOPLASTIC PAVEMENT MARKING			4		.	4	.
28			1,782	FOOT	\$1.50	\$2,673.00	\$1.50	\$1.55	\$1.51
00		POLYUREA PAVEMENT MARKING TYPE I -	0	ГООТ	#4.50	£40.00	Ф Г 00	ФЕ 4 Е	фг. oo
29	78008210		8	FOOT	\$1.50	\$12.00	\$5.00	\$5.15	\$5.03
30		POLYUREA PAVEMENT MARKING TYPE I -	660	FOOT	\$1.50	\$1,002.00	\$5.50	\$7.00	\$6.28
31		PAVEMENT MARKING REMOVAL		SQ FT	\$2.00	\$4,560.00	\$0.75	\$1.05	\$0.25
31		TEMPORARY TRAFFIC SIGNAL	2,200	OQTI	Ψ2.00	Ψ+,500.00	ψ0.73	Ψ1.03	ψ0.55
32		INSTALLATION	1	EACH	\$17,000.00	\$17,000.00	\$23,957.00	\$47,500.00	\$35,952.33
		MAINTENANCE OF TEMPORARY EROSION			4 11 ,0000100	4 11 , 0 0 0 1 0 0	+ ==,==:	4 11 ,000 100	, ,
33		CONTROL SYSTEMS		UNIT	\$150.00	\$600.00	\$150.00	\$150.00	\$150.00
		TEMPORARY LIGHTING FOR SINGLE							
34	X0326276	LANE STAGING	1	L SUM	\$10,000.00	\$10,000.00	\$8,841.00	\$19,500.00	\$12,516.17



Project: Everett Road and Deerfield Road Bridge at I-94

Section: 11-00999-20-RS

Description: Bridge deck repair, guardrail removal and replacement, expansion joint replacement

					Eng Estimate				
Item No	. Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
35	X5017305	PROTECTIVE SHIELD (PERMANENT)	537	SQ YD	\$100.00	\$53,700.00	\$57.70	\$115.00	\$76.70
36	X6331007	REMOVAL AND REPLACEMENT OF STEEL PLATE BEAM GUARDRAIL, RAIL ELEMENT	238	FOOT	\$20.00	\$4,750.00	\$8.00	\$17.65	\$11.74
37	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	4	CAL MO	\$2,000.00	\$8,000.00	\$500.00	\$3,490.00	\$2,447.97
38	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL) TRAFFIC CONTROL AND PROTECTION	1	L SUM	\$13,000.00	\$13,000.00	\$15,000.00	\$35,000.00	\$23,970.67
39	X7011015	(EXPRESSWAYS)	1	L SUM	\$30,000.00	\$30,000.00	\$20,000.00	\$48,000.00	\$32,462.50
40	Z0001700	APPROACH SLAB REPAIR (FULL DEPTH) APPROACH SLAB REPAIR (PARTIAL	22	SQ YD	\$700.00	\$15,400.00	\$478.00	\$1,110.00	\$755.50
41	Z0001800	DEPTH)	32	SQ YD	\$575.00	\$18,400.00	\$269.00	\$787.30	\$448.55
42	2 Z0012754	STRUCTURAL REPAIR OF CONCRETE (DEPTH EQUAL TO OR LESS THAN 5 INCHES) STRUCTURAL REPAIR OF CONCRETE	33	SQ FT	\$150.00	\$4,950.00	\$85.00	\$190.00	\$134.72
43	Z0012755	(DEPTH GREATER THAN 5 INCHES)	17	SQ FT	\$250.00	\$4,250.00	\$100.00	\$246.00	\$161.55
44	Z0013798	CONSTRUCTION LAYOUT	1	L SUM	\$20,000.00	\$20,000.00	\$250.00	\$20,000.00	\$4,795.83
45	Z0016001	DECK SLAB REPAIR (FULL DEPTH, TYPE I) DECK SLAB REPAIR (FULL DEPTH, TYPE	48	SQ YD	\$900.00	\$43,200.00	\$500.00	\$1,350.00	\$761.33
46	Z0016002	•	24	SQ YD	\$900.00	\$21,600.00	\$505.00	\$1,350.00	\$793.00
47	Z0016200	DECK SLAB REPAIR (PARTIAL)		SQ YD	\$400.00		\$155.00	\$695.00	\$396.67
48		NIGHTTIME WORK ZONE LIGHTING	1	L SUM	\$7,000.00	\$7,000.00	\$1.00	\$9,839.80	\$3,331.80



Project: Everett Road and Deerfield Road Bridge at I-94

Section: 11-00999-20-RS

Description: Bridge deck repair, guardrail removal and replacement, expansion joint replacement

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
40	70000055	IMPACT ATTENUATORS, TEMPORARY (FULLY REDIRECTIVE, NARROW), TEST	0	E4011	#4.750.00	#0 500 00	# 4.000.00	Φ4. 7 4.Γ.00	Ф4.450.50
49	Z0030255	LEVEL 2	2	EACH	\$4,750.00	\$9,500.00	\$4,300.00	\$4,715.00	\$4,452.50
50	Z0030320	IMPACT ATTENUATORS, RELOCATE (FULLY REDIRECTIVE), TEST LEVEL 2 Bid Total	_	EACH	\$1,000.00	\$2,000.00 \$631,664.00	\$2,050.00	\$2,600.00	\$2,320.83